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Two wires are tethering an air balloon to the ground. One wire is tethered with an angle of elevation of 75°. A
wire 100 feet closer to the balloon than the first is tethered at an angle of elevation of 85°. How high is the
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A bike has traveled 9.5 miles and the tire has a diameter of 26 inches. How many revolutions has the tire made?
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13. Find the area and perimeter of a reguiar hexagon that is inscribed in a circle with a radius of 12 cm. Exact
answers only. . T
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An arc iength of 18.4 meters has been cut off in a circle with a radius of 6.2 meters. What is the central angle in
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radians and degrees to the nearest hundredth?
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15. Find the value of the 6 trigonometric ratios of the angle in standard position if the point {-4, 6) lies on the
terminal side of theta, Lr
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Find one positive and one negative coterminal angle of the fallowing:
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17. Solve the triangles with the given information.

b) A=34°b=12in,c=17in

a) A = 48°, a = 14.3 feet, b =15.1 feet.
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¢} A=81°,B=29°¢c=86cm

A=81 o= .04
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d)  A=63,a=12m,b=29m

L= " o= 8.l




Chp 6 Revievs Name
Pre-Calculus Period

8. Salve for the missing side length x in the triangles provided.
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9. Refer “0 the figure below. 5521 ’5{" Y= (19 b
FRT e

aj Find the area of the shaded region N~

b) Find the perimeter of the shaded region.
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10. A triangular lot of land is being sold with side tengths 130 yards, 200 yards and 90 yards, Find the angle across
from *he longest side of the plot and find the area of the plot.
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1. Find the radian measures that correspond to the degree measures 335° and -128°.
Ghr, %2
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2. Find the degree measure that correspond to the radian mealsures-:-l«é-E and — ﬁ

24055, -105

3. The blades of a helicopter are 16 feet long and are rotating at 120 rpm.
a) Find the angular speed of the rotor
b) Find the linear speed of a point on the tip of the blade.
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4. Find the exact value of each of the following:
a} sin 4-05" b) tan( 150°) c) sec(%—)' d}csc (5?”)
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7. The base of a ladder is 6 feet from the base of a bu:ldmg. The angle of elevation from the bottom of the ladder
to the spot where the top touches the building is 73°. How long is the ladder?
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